Name:…………………………………………………………………..Class : 10  ………….
I-Vocabulary                                                                                                                                                             
Choose the most suitable answers from a, b, c and d : ( 3 X 5=  15 m. )
1  Some countries use nuclear power plants to			 electricity.
	a) spoil			b) generate		 c) last		d) diminish

2 I managed to overcome all the 				 that faced me.
a) suspension		b) obstacles		c) wearer		d) nanoshells 

3 My dad supports many 				 projects.
a) philanthropic		b) affluent		c) obedient		d) charitable  

II- Grammar 
Correct the underlined mistakes in the following sentence: ( 2 X 5= 10m. )
1-  If I were you,……………….........................................................................................( Complete)
……………………………………………………………………………………..…………
2- What do you usually do in your freetime?
……………………………………………………………………………………………………………………………....
………………………………………………………………………………………………………………………………
III-Writing (30 Marks)
Being a successful manager is not easy. In not less than (6 sentences) write a paragraph about how to be a successful manager and the characteristics and the skills needed to be in such position, 
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